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Ex.) Determine the number of arrangements of the letters in the word ORANGES:
a) with no restrictions
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SECOND
CHOICE

Ex.) Determine the number of arrangements of the letters in the word BRAINS:

a) with no restrictions

G\ =(F20]

b) with all the vowels together

dotal — vowels = vowels
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Repetitions: - identical objects, repeating letters
- divide by the repeats
n—Yokx| H lefter=
a@ repects
Ex.) KISSING
a) no restrictions
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FIRGT SECOND
CHONCE CHOICE

Ex.) You have 15 lollipops and an equal amount of red, green, yellow. How many
ibl here? —
possible arrangements are there 5 eoch

total |1 .
repents (5{5\}5@ -\ 73 72
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